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C. The Economics of Airline Tickets
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D. Economics of Organ Donation
There are two types of special kidney donation used in the US: Kidney swaps and kidney chains.

According to Wall Steeet Journal (“A Daisy Chain of Kidney Donations” by Ronda L. Rundle, 9/23/2008), a
kidney swap “occurs between two ot more sets of incompatible recipients and donors, who are usually family
members. If a donor's organ isn't compatible with a loved one who needs 2 kidney, doctors are able to swap that

organ with one from another incompatible pair.”
Moreover, a kidney chain “starts with an altruistic individual who wants to donate a kidney to help a

stranger in need. The anonymous donation goes to a recipient who has lined up a living donor, but who isn't
biologically compatible. In turn, that donor's kidney can benefit other patients who have also lined up living donors
who ended up being incompatible, each time passing an extra kidney down the line.”
1. Order the following by efficiency: A society that

(A) Allows kidney swap,

(B) Allows kidney chain,

{C) Aliows any voluntary donations with no monetary compensation,

(D) Allows voluntary donations only between close relatives,

(E) Allows kidney sales but has price control at price p>0.

2. Many people think it is not appropriate to buy and sell organs, and fear that arbitrary donations might foster
payments under the table, Under this repugnance constraint, which of the above organ donation system would you

choose to maximize efficiency?
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1. Which of the following statements are true?
(a) Giffen goods, when they exist, always have a downward sloping Engel curves.
{(b) Consumer surplus is always zero with a perfect elastic demand curve.
(¢) Suppose Joe’s Labor supply decrease when the hourly wage rate increases, then leisure is a normal goods

for Joe.
(d) A person who is risk averse at all levels of income would never buy a share in a company which offered an

uncertain return.

2. A farmer is risk-averse and has utility given by U(m)=log(m) where m is money income. He can grow potatoes
or wheat or both in his land. The crop of both products is dependent on weather. If the weather is good, 1 acre of
land yields a return of $260 if devoted to potatoes and of $150 if devoted to wheat. If the weather is bad, 1 acre of
potatoes yields $80 whereas an acre of wheat yields $120. Good and bad weather are equally likely

(probability=% ). The farmer has 100 acres of land. Then:

{a) He should devote all his land to potatoes.
{b) He should devote roughly 81.9 acre to potatoes.

Now consider the case that the farmer can buy outside insurance. This policy, for every §1 that the farmer puts,
pays out $2 if the weather is bad and nothing if the weather is good. Then:

{c) The farmer would still devote some land to wheat.

(d) The farmer should by a total of $9000 insurance.

3. In the following game, player 1 picks rows, and player 2 picks columns. The numbers are payoffs, with payoff of
player 1 written first.
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(a) For player 1, U is weakly dominated by C.

(b) For player 1, only C would survive iterated strict dominance.
(c) For player 2, L would survive iterated strict dominance.

(d) (C,L) is a pure strategy Nash Equilibrium.

4, Company A is the only company in the market for stuffed animals. The demand for their toys is P = 40 — 4Q.
The marginal cost and average cost are constant at 8.
{a) The equilibrium price and output for the monopoly would be P=24 and 0=6.
Now another company B, whose marginal and average cost are both constant at 16, is also considering entering
the market. Let gB be the amount produced for B.
(b) If company A still sticks onto its amount of production at monopoly,

would be P=24-4qs,
(c) If A sticks onto its amount of production at monopoly, and B follow the Cournot assumption, then company

B would produce 2 to maximize profit.
(d) If both companies follow the Cournot assumption, then the equilibrium quantity produced for company A

the residual demand company B faces

and B would be%, g‘—respectively.

(e} If both companies follow the Stackelberg assumption, where A is the leader, then the equilibrium quantity
produced for A and B would be 4 and 1 respectively.

5. Regarding to the Theory of Discrimination, which of the following statements are true?
(a) If blacks are paid less than their marginal produet, then non-discriminating firms will hire more blacks.
(b)If blacks are paid less than their marginal product, then employers can engage in discrimination at zero cost.
(c)If white employees dislike associating with black employees, then blacks will be paid a lower wage than

whites.
(d)If white employees distike associating with black employees, then the workforce will be heavily segregated.

6. Denotes the price of the inputs (x1,x2) = (w!, w2), and the price of output is p, then for the production function,
1 1

y=Rx, x2)= (1) 7+ (x2) 7,

+ W,
(a) cost function, C(w!, w2, y)= yzu
WiW,
(b) cost function, C(w!, w2, y)=y’ it
W, +w,
(¢) profit function, [1(p, wi, w2)}=p 2 4w,
W, + W,
+
(d) profit function, I1(p, w!, w2)= pzu
4w,w,
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7. Which of the following matches between the Nobel Prize winners and the major contributions for them to win
the prize are correct?
(a) Steve Levitt--Freakonomics
{b) Gary Becker--Human Capital
{c) Michael Spencer--Signal Theory
(d) Joseph Stiglitz—Globalization and its Discontent
{e) James Heckman--Self Selection Bias
(D) Paul Krugman—Economic Geography

8. Which of the following statements are true?
(a) Both monopolies and externalities lead to inefficient allocation of resources. Therefore, a firm that is both a

monopoly and a source of negative externalities is an especially serious social problem.

(b) Government intervention is the anly way to solve the externality problem.
(¢) Consider a demand curve for reckless driving, for which the "price of reckless driving” is interpreted as the
probability of having a fatal accident. In this case, safer cars will increase the total number of driver

fatalities.
(d) If average cost decrease in quantity, then the production function must be increasing return to scale.

(e) If the production function is increasing return to scale, then average cost decreases in quantity.
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